
SAP ABAP table CRMT_M1O_PARTNER {Sales Document Partner Data}

CRMT_M1O_PARTNER

REF_PARTNER_FCT [CHAR (8)]

PARTNER_FCT [CHAR (8)]

ADDR_OPERATION [CHAR (6)]

NAMEFORMAT [CHAR (2)]

NAMCOUNTRY [CHAR (3)]

LANGU_P [LANG (1)]

CITY_NO [CHAR (12)]

DISTRCT_NO [CHAR (8)]

PBOXCIT_NO [CHAR (12)]

TRANSPZONE [CHAR (10)]

STREET_NO [CHAR (12)]

STR_ABBR [CHAR (2)]

COUNTRY [CHAR (3)]

LANGU [LANG (1)]

REGION [CHAR (3)]

TIME_ZONE [CHAR (6)]

ADRCITY

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

CITY_CODE [CHAR (12)]

 CRMT_M1O_PARTNER-CITY_NO = ADRCITY-CITY_CODE 

0..N

1

 CRMT_M1O_PARTNER-PBOXCIT_NO = ADRCITY-CITY_CODE 0..N

1

ADRCITYPRT

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

CITY_CODE [CHAR (12)]

CITYP_CODE [CHAR (8)]

 CRMT_M1O_PARTNER-DISTRCT_NO = ADRCITYPRT-CITYP_CODE 

0..N

1

ADRSTREET

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

STRT_CODE [CHAR (12)]

 CRMT_M1O_PARTNER-STREET_NO = ADRSTREET-STRT_CODE 

0..N

0..N

ADRSTRTYPE

CLIENT [CLNT (3)]

COUNTRY [CHAR (3)]

STRTYPEAB [CHAR (2)]

 CRMT_M1O_PARTNER-STR_ABBR = ADRSTRTYPE-STRTYPEAB 
0..N

1
CRMC_PARTNER_FCT

CLIENT [CLNT (3)]

PARTNER_FCT [CHAR (8)]

 CRMT_M1O_PARTNER-PARTNER_FCT = CRMC_PARTNER_FCT-PARTNER_FCT 

0..N
1  CRMT_M1O_PARTNER-REF_PARTNER_FCT = CRMC_PARTNER_FCT-PARTNER_FCT 

0..N

1 T002

SPRAS [LANG (1)]
 CRMT_M1O_PARTNER-LANGU = T002-SPRAS 0..N

1  CRMT_M1O_PARTNER-LANGU_P = T002-SPRAS 0..N1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 CRMT_M1O_PARTNER-COUNTRY = T005-LAND1 

0..N

1

 CRMT_M1O_PARTNER-NAMCOUNTRY = T005-LAND1 
0..N

1

T005N

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

NAMEFORMAT [CHAR (2)]

 CRMT_M1O_PARTNER-NAMEFORMAT = T005N-NAMEFORMAT 

0..N

1

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 CRMT_M1O_PARTNER-REGION = T005S-BLAND 

0..N

1

TB008S

CLIENT [CLNT (3)]

OPERATION [CHAR (6)]

 CRMT_M1O_PARTNER-ADDR_OPERATION = TB008S-OPERATION 

0..N

0..N

TTZZ

CLIENT [CLNT (3)]

TZONE [CHAR (6)]

 CRMT_M1O_PARTNER-TIME_ZONE = TTZZ-TZONE 

0..N

1

TZONE

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZONE1 [CHAR (10)]

 CRMT_M1O_PARTNER-TRANSPZONE = TZONE-ZONE1 

0..N

1


